Chapter 9 Prerequisite Skills Answers
BLM 9–1 Prerequisite Skills

1. a)
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b) g(x)  x2  5x  4

2. a) 2g(15  2g)   b) 2g(3f  4g)   c) (x  5)(x  1)
d) (2x  1)(x  5)   e) (2a  3)(3a  1)
f) (x  0.1)(x  0.1)   g) 5(2xy  3)(2xy  3)
3. a) (2, 1, and 3   b) h(x)  (x  2)(x  1)(x  3)
c) (2, 1, and 3
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5. a) P(1)  (1)3  5(1)2  2(1)  8  0, therefore, (x  1) is a factor.

b) P(x)  (x  1)(x  4)(x  2)   c) x  (1, 2, 4
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The x-intercepts are the solution to P(x)  0.
6. a) x2  4x  12  0; 6 and 2   b) y  (x  2)2  16
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The x-intercepts are the solution to the equation. The x-coordinate of the vertex is the value that makes
(x  h)  0 and the y-coordinate is equal to k.

7. a) x  7   b) 
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f) x  6, x ( 2, 2

8. a) (x  5)2  21  0   b) (x  4)2  3  0

c) 3(x  1)2  2  0   d) 2(x  1)2  5  0

9. a) x  4, 1
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b) x  5, 1, 2 
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10. a) 
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11. a) 
[image: image15.wmf]15

22

,4,

¹±

z

   b) 
[image: image16.wmf]33

2

,,0,5

-

¹±

x

x


	
	


Copyright © 2012, McGraw-Hill Ryerson Limited, ISBN: 978-0-07-073887-4  [image: image17.wmf]
Copyright © 2012, McGraw-Hill Ryerson Limited, ISBN: 978-0-07-073887-4  [image: image18.wmf]

[image: image17.wmf][image: image18.wmf]_1377349492.unknown

_1377349713.unknown

_1377697708.unknown

_1383571310.unknown

_1377349789.unknown

_1377349797.unknown

_1377349546.unknown

_1377349612.unknown

_1377349523.unknown

_1377349257.unknown

_1377349330.unknown

_1377349080.unknown

